User Manual

SM1 TV Stand Mount

%\
=

(e——= x> c—> bobocbeboBOO)
\ \

TILT AND SWIVEL
TV MOUNT FOR
-, KANTO TV STANDS

100 100
700 400

VESA

COMPLIANT

D 130 Ibs
(59 kg)
CAUTION

The maximum loading weight is 130 lbs (59 kg). This TV stand mount is intended for use only up to the
maximum weights indicated. Use with products heavier than the maximum weights indicated may result in instability
causing possible injury.

Supporting your digital lifestyle™




Introduction

Thank you for choosing the Kanto Living SM1 Stand Mount, designed to attach to the rear of a compatible Kanto TV Stand. The
SM1 will mount flat panel televisions weighing up to 130 Ibs (59 kg), swivel +25° and tilt +15°.

Read these instructions fully before assembly and installation of this stand. If you do not understand these directions, or have any
doubts about the safety of the installation, please consult a qualified installation contractor. Make sure there are no defective or
missing parts. Do not use defective parts. If there is hardware missing, or if you are uncertain whether the part is defective call
Kanto directly at 1-888-848-2643 or email support@kantoliving.com. Kanto cannot be liable for property damage or injury caused
by incorrect mounting, incorrect assembly, lifting or incorrect use of this product.

Supplied Parts and Hardware
4 x4

x4 x4 X X X2

A: M6 x B: Mé6 C: M6 x D: M6 x E: M6 F:4mm
18mm Bolt Washer 32mm Bolt 54mm Bolt Security Knob Allen Key

G: Back Bracket H: Swivel Bracket [: Tilt Bracket J: Mount Arms

)e(a4Ch @ . ' Required Tools

S1: M4 x 12mm  S5: M4 x 32mm X4 X4 X4 X4

S2: M5 x 12mm  Sé6: M5 x 32mm  S9: M4/M5/  S10: M8  S11: M4/M5/  S12: M8
S3: M6 x 12mm  S7: Mé x 32mm  Mé Washer  Washer ~ M6 Spacer  Spacer o Phillis
S4: M8 x 15mm  S8: M8 x 32mm crewdriver

S9 or S10
(as needed)

/ S1 thru S8

Spacers (S11
or $12) if

Step 1: Attach Mount Arms to TV e

Step 1.1 Select the correct size of bolt.

Kanto provides 4 bolt diameters (Metric sizes M4, M5, M6, and M8) in two

lengths (S1 thru S8). Diagram A

Select the correct diameter screw and hand screw into the back of the TV to
determine the correct length. Use the longest available bolt without reaching
the bottom of the TV threads, using spacers (11 and $12) if needed. Be careful
not to overtighten the bolts, as damage to your TV may occur.

Step 1.2 Attach TV mount arms to the back of the TV, as shown in Diagram A.

Use washers (S9 and $10) as needed for smaller bolt sizes, and spacers (S11
and $12) if necessary for TVs with curved backs.




Step 2: Attach Step 3: Attach Step 4: Attach
Swivel Bracket Tilt Bracket Mount to Stand

You can mount the swivel bracket Attach the Tilt Bracket (I) to the Attach the complete mount

at one of three heights - each 1.5” Swivel Bracket (H) using four M6 assembly to the four captive nuts
(3.8cm) apart. Select your desired x 32mm bolts (C), as shown in on the rear frame of your TV stand
height, and attach the Swivel Bracket Diagram C. using four Mé x 54mm bolts (D),

(H) to the Back Bracket (G) using four as shown in Diagram D.
M6 x 18mm bolts (A) and Mé washers

(B), as shown in Diagram B.

Tighten using the Allen Key (F).
Tighten using the Allen Key (F).

Tighten using the Allen Key (F).

) '~
a 4 |4 .
Z -~
. / : \/\ "N
~ N ‘\\
Diagram B Diagram C Diagram D

Step 5: Place TV on
Mount and Tighten
Security Knobs

Position your completed TV stand and mount
where desired. Use two people to lift the

TV and position the mount arms over the
horizontal rails of the Tilt Bracket (l), as shown
in Diagram E.

To secure the TV in place, screw the Security
Knobs (E) in to the threaded holes on top of
each mount arm (J), as shown in Diagram F.
Adjust position, tilt and swivel as desired.

Diagram E Diagram F

Supporting your digital lifestyle™




Kanto Speakers

+ Chadk out our full Ine of bonkshalf and deskion speaker systams.
= Aypilahie in n shunning sy of cokom

I.- k »Full ine of Ao and Vider Cables 77
» Whita or Black Cables evallalia |
ln 'I'l}l'll.mﬂ MinHeck, RCA LR

Ta leam mome sbout 8l our praducis, visit weew antoliving.com
f kamoliving £ @kenmliving kertaliving

Warranty

Limited Warranty to Original Purchaser

Kanto Distribution Inc. (Kanto) warrants the equipment it manufactures to be free from defects in material and workmanship for the following limited warranty period of:
24 months parts and labour

If equipment fails because of such defects and Kanto or an authorized dealer is notified within 24 months from the date of shipment with proof of original invoice, Kanto
will, at its option, repair or replace the equipment, provided that the equipment has not been subjected to mechanical, electrical, or other abuse or modifications.
Equipment that fails under conditions other than those covered will be repaired at the current price of parts and labor in effect at the repair. Such repairs are warranted
for 90 days from the day of reshipment to the original purchaser. This warranty is in lieu of all other warranties expressed or implied, including without limitation, any
implied warranty or merchantability or fitness for any particular purpose, all of which are expressly disclaimed.

Customers will be responsible for obtaining a Return Authorization as well as shipping costs to return product to a Kanto location or authorized depot listed on the
website. If the equipment is covered under the warranty provisions above, Kanto will repair or replace, and be responsible for return shipping to the customer. Please
keep the original packaging so products will not be damaged during shipping, and we recommend you insure your shipment. If equipment fails outside the warranty
provisions, customers will be quoted repair and return shipping costs prior to work being performed.

The information in the owner’s manual has been carefully checked and is believed to be accurate. However, Kanto assumes no responsibility for any inaccuracies that
may be contained in the manual. In no event will Kanto, be liable for direct, indirect, special, incidental, or consequential damages resulting from any defect or omission
in this manual, even if advised of the possibility of such damages.

14-10

www.kantoliving.com
support@kantoliving.com

Tel 888.848.2643




